BSNL JTO Model Test Paper – III
(SOLVED)

PART – 3
Which one of the following is the Fourier transform of the signal given in fig. B if the Fourier transform of the signal in fig A is given by -

What is 215 complement of 00011100-
a.) 11100011

b.) 10001100

c.) 11100100

d.) 10000111

In C programming a expression contains relational operators, assignment operators and arithmetic operators if parentheses is absent then execution follows
a.) assignment, relational, arithmatic

b.) arithmatic, relational, assignment

c.) relational, arithmatic, assignment

d.) assignment, arithmatic, relational

In semiconductor memory information stored in form-
a.) binary

b.) hexadecimal

c.) octal

d.) ASCII

i\p to Not gate gives o/p as-
a ) inversion of some bits

b.) 2’s complement of i\p

c.) 1’s complement of i\p

d.) o/p is some as i\p

A negative logic means-
a .)logic 0 and 1 are represented by a +ve voltage respective

b). logic 0 and 1 are presented as –ve and +ve voltage

c. )logic 0 voltage is higher than logic 1 voltage level

d.) logic 0 voltage is lower than logic 1 voltage level

For designing D flip flop from SR FF a circuit is aloud at 01p of SR FF is-
a.) AND

b.) OR

c.) NOR

d.) NOT

The transistor shown in fig is

a. ) Silicon, NPN with Ic = 0.5 mA

b.) Silicon PNP with Ic = 0.5 mA

c.) Germanium PNP with IE = 0.5 mA

d.) Germanium NPN with Ic=0.5 mA

A 20,000 Ohms per volt meter will deflect full-scale with a current of -
a.) 50 mA

b.) 50 mA

c.) 100 mA

d.) 1000 mA

A plate modulated class –CRF power amplifier produces 100 KW of radiated power at 100 % modulation. The modulating audio amplifier supplies approximately ——– kW of this power-
a.)50

b).33

c).22

d).11

An amplifier without feedback has a distortion of 15 % and gain of 40. When 10% negative feedback is applied the distortion will become-
a.) 50 %

b). -45 %

c). 3%

d). -5%

MODEM implies-
a.)Modulator at transmitting side and ditector at the receiving side

b.)Which deals with analog signals and shows digital information

c.)Analog to digital at transmitting side and digital to analog at a receiving side

d).A device which deals with digital signals only

Twisted ring and ring counters are examples of –
a. )Synchronous counters

b.) Asynchronous counters

c.) both a and b

d.) None of the above

Specify Non characteristic flip flop in the following –
a.) The outputs are complement of each other

b.) The flip flop has two input signals

c.) The flip flop has two output signals

d). The flip flop is a bistable devise with only two stable states

The voltage obtained when digital input is 001 is a 3 bit R-2R ladder DIA converter is-
a.) VR/22

b.) VR/21

c.) VR/23

d.) none of the above

Identify NOT an octal number-
a.) 19

b). 15

c.) 77

d.) 101

The set of binary digits 01000100 represent’s-
a.) number 6810 in a pure binary computer

b.) number 44 in 8421 BCD code

c) Both a and b

d.) None of the above

The system matrix of a continuous time system, described in the state variable form is –

The system is stable for all values of x and y satisfying –

a.)x < 1/2, y < 1/2

b). x < 0, y < 2

c. )x > 1/2 , y >0

d.) x < 0 , y < 1/2

The break away and break in point in the root locus for open loop transfer function G(S) H(S) = are located respectively at –
a). –2 and -1

b). –2.47 and –3.77

c.) –4.27 and –7.73

d.) –7.73 and –4.27

The transfer function for the given system shown in figure is –

The type and order of the system whose Nyquist plot is shown in fig is-

a.)0.1

b.) 1,2

c.) 0,2

d). 2,1

The overall transfer function in a second order is given by-

Its resonant frequency is -

a.) 2

b.)

c).

d.) 3

